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DIPLOMA IN PRIMARY EDUCATION (DPE) 

Term-End Examination 
00931 

December, 2017 

ES-222: EDUCATION IN EMERGING INDIAN 
SOCIETY 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Describe in brief the characteristics of a good 
curriculum. Discuss activity based curriculum 
highlighting its need and relevance in primary 
education. 

OR 
Explain the main reasons for low enrolment and 
retention among girls. Discuss the various 
measures recommended by the National Policy 
on Education (NPE) 1986 to equalise educational 
opportunities for girls in primary education. 

2. Answer the following question in about 
600 words : 
Describe various socio-cultural and ethnic groups 
of India. Discuss the 'pluralistic and multicultural 
nature of Indian society. 

OR 
Explain the major forms of inequalities that exist 
in our country. Discuss the remedial measures to 
be taken to overcome them. 
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3. Answer any four of the following questions in 
about 150 words each : 
(a) Describe life-centred curriculum and its 

relevance in primary education. 
(b) Write a note on constitutional provision on 

girls education. 
(c) School acts as a sub-system of community. 

Justify. 
(d) Describe aims and objectives of primary 

education. 
(e) Discuss the role of teacher in integrating the 

positive influence of various agencies of 
education. 

(f) Define the concepts of 'school mapping' and 
'micro planning'. 

4. 	Answer the following question in about 
600 words : 
Describe the importance of parental cooperation 
in the development of the child. Discuss the steps 
you would like to undertake in a primary school 
to promote awareness among teachers for 
effective parent-teacher partnership. 
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